
® 

Revision 0 (11/10/97) Printed in U.S.A. 



GENERAL SAFETY RULES 
THE MANUFACTURER SUGGESTS THAT THESE uRULESH FOR SAFE OPERATION BE 

A COPIED AND POSTED IN POTENTIAL HAZARD AREAS OF THE RECREATIONAL VEHI- A 
.ft. CLE. SAFETY SHOULD BE STRESSED TO ALL OPERATORS AND POTENTIAL OPERA- ..._ 

TORS OF THIS EQUIPMENT. 
Study these SAFETY RULES carefully before operat­
ing or servicing applicable equipment. Become familiar 
with this Owner's Manual and with your generator. 
Safe, efficient and reliable operation can only be 
achieved if generator is properly installed, operated 
and maintained. Many accidents are caused by failing 
to follow simple and fundamental rules or precautions. 
The manufacturer suggests that these GENERAL 
SAFETY RULES be copied and posted in potential 
hazard areas of the recreational vehicle. Safety should 
be stressed to all operators and potential operators of 
equipment. 

~~~ In case of accident caused by electric shock, shut down 
the source of electrical power down at once. If this can­
not be done, free victim from live conductor. AVOID 
DIRECT CONTACT WiTH THE VICTIM. Use a 
board, dry rope, or other non-conducting 
free the vtctim from live conductor. 

• inspect fuel system frequently for" leaks or dam­
age. Repair or replace any damaged or 
component immediately. Never attempt to '"' 1 

.. ""''"',..''"' 

alter or modify the generator fuel system in any 
way that might affect safety or compliance with 
applicable codes and standards. 

I!J The off DEADLY carbon 
exhaust This 

hrc,at~10ri 1'1'1'!/"'iiOn'!' concentra• 
or even death. 
been 



N RECORD AND 

4.Rated 

2. Switch Air Cleaner 

Fuse i Air Intake Tube 

4. Circuit i 1 . Carburetor 

5. Fuel Primer 12. Oil Filler Tube 

6. Generator AC Leads 13. Data Decal 

7. 12 Volt Connection 14. Hour Meter 

-1-



TABLE OF CONTENTS 

OPERATING INSTRUCTIONS 

GENERAL SAFETY RULES ......... ., ..... .inside cover 

IDENTIFICATION RECORD AND 
GENERATOR FEATURES ..................................... 1 

READ THIS MANUAL THOROUGHLY 
Operation and Maintenance .. .. . .. . . . .. .. . .. .. .. . .. . .. ... .. .. .. .. .... 3 
How to Obtain Service................................................... 3 

Generator . . . . . . . . . . . ... . . . .. . . .. . . . . .. . .. . . .. .. . .. ... . . .. .. 4 
Safety ............................................................................ 4 
Generator AC Connection .. .. .... . .. . .. . .. . .. .. . .. . .. .. .. 4 

OPERATING INSTRUCTIONS 

the Carburetor .............................................. . 
Adjusting Valve Clearance ........................................... 11 
Major Service Manual ................................................... 12 

the Generator .............................................. 12 
Out of Service Protection .............................................. i 2 
Return the Unit to Service after 12 

INSTALLATION SAFETY RULES ........................ 13 

GENERAL INSTALLATION INFORMATION 
Purpose of 14 
Safety .............................................................................. 14 
Standards Booklet ........................................................... 14 
Equipment Description .................................................... 14 
Engine-Generator Operating i 4 
Generator AC Connection System .................................. i 4 

LOCATION AND SUPPORT 
Generator Location .......................................................... 15 
Generator 15 
Suspended ...................................................... 15 
Generator Restraint ......................................................... 16 

GENERATOR COMPARTMENTS 

31 

ELECTRICAL DATA ............................... 32-33 

REPAIR PARTS ........................................... 34 to 41 

NOTES .............................................................. 42-43 

CALIFORNIA ="'.,''"'~.,..,.-.,.,,.,....., •• 

WARRANTY ............................................... back page 

-2-



don't understand any 
"'"r"t~'"''~' Generac for a rlclln'"'IAnc-t'.-~'~''""'"' 

nn<~l"':i1rlr"\,.., and ""Qf'"\lir'lnn ...... ,..,._,..,_.., 

Throughout this PU!Jncancm 
affixed to the 
blocks are 
about a 

dents. 

The for and 
safe use of on the and 
the safety of all occupants. We strongly rec-
ommend that the operator read this Owner's Manual 
and thoroughly understand all instructions before 
using this equipment We also recommend 
instructing other occupants in the to .,,.,.r;,..,.,, .. 
start and operate the generator. This prepares 

need to operate the in an emergency, 





TROl PANEL 
(Figure are 

(it has not been started 
must press this switch 

the fuel This rock-
back into its 

-5-

RATING I 
• PRECHOKE 
The choke system also has a temperature sensitive 
meta! strip that adjusts the choke valve angle accord-

to ambient temperatures , in cold ambient 
the choke valve closes Once 

starts, an element heats the 
CQn,;:nntQ. strip to a normal """"''"',....'+'"" 

ing the choke valve. This may 
cooler weather. 

E 
IMPORTANT: INSTRUCTIONS AND INFORMATION 
!N THIS MANUAL ASSUME THE GE~~ERATOR 
BEEN PROPERLY INSTALLED NN 

TESTED AND BY 
OR 



• 
you should be 

gases to enter the 
nrH:.rlron OE30018 Or animals. 

,...,....,~,., .......... C' in the vehi-
enter 

motor. 



I 
OR BRUSH 

not 
VOLTS times AMPS to obtain WATIS. 

era tor. 

-7-



about 950m! or 
vVvviO.I additives. See 

check and pro·· 



This section includes information about 
tenance which includes the following tasks: 

main- ' Install 

MAl 

tighten dipstick cap before operating engine. 



arrestor every 00 hours 

To remove the remove the exhaust 
connected the muffler and then remove the 

screw that attaches the arrestor to the muffle 
HeKJiac;e the arrestor if 

othervvise 

E E 
,...'"'''"''"' •. ,,.,. ... ,..set as clean and as oo:ss1101e 

that are to accumulate 
electrical have an adverse affect on 
insulation resistance those \Mir~ri .. -.n.:-

Moisture is allowed remain in contact with 
will be retained in voids and cracks of the 

Dirt makes the since it 
hold the moisture contact with wind-

as from sea worsens the since 
it to absorb moisture from the air. combina-
tion of salt and moisture makes a electrical con­
ductor. 



JAl CAUTION: not the 
~ clip will lose clamping force. 

or 

3. With lightly compress the spring clip on 
retor arm. This allows the linkage rod to slide 
through clip. While the clip is compressed, rotate 
throttle lever in the appropriate direction to 
rtA~rA~~::.A the until there is 

-11-



1 

- 2-



INSTALLATI 
DANGER: FOR FIRE INSTALLATION OF A GENERATOR INTO A RECREATIONAL 
VEHICLE MUST COMPLY Y WITH ARTICLE 551, NFPA 70; ANSI C1s1975; AND, 
ANSI A119.2-1975/NFPA 501C ..................... ,. ... FOR RECREATIONAL VEHICLES" (PART 3, 
~~INSTALLATION OF ELECTRICAL IN ADDITION, THE MANUFACTURER'S 
INSTRUCTIONS AND RECOMMENDATIONS BE COMPLIED WITH. 

INSTALLER 
Installation Instructions have been 

Generac aid in the of 
products in manual. Generac assumes 
that installation personnel are familiar with the 

for installing such products, or similar 
that manufactures. Generac also 
that have been trained in recommend-
ed for and 

,...,...,,..,....,..,..,,...,.., hand 

-13-

sciousness or even death. Install the exhaust 
system in strict compliance icable 
codes, standards and regulations. must be 
no possibility for exhaust gases entering the vehi~ 
cle interior and endangering people or animals. 
The generator set produces dangerously 
electncal voltage. Contact with bare wires, 

will result in extremely hazardous 
electrical shock. 

electrical standards and 
.. ,.,.,.,,,....,....,... must be with in the 

mstall<atlcm and use this 
I"ICH"\C-'I'~l'!'f"\1" must be nl"f"\r\t:ll"l\1 

vehicle 



These Installation Instructions have been 
E:lS[JBC:IB!IV for the Of 

owners of the ao!JIIcao11e 
duct's installation 
eration to all information and instructions in the 
Manual, both for and for continued reliable 
operation of the 
Because of the different recreational vehicle models 
and the variations between the it would be 

difficult, if not , to 
detaiied instructions on every pos~s!DI 
For that reason, instructions and illustrations in 
manual are in nature. Illustrations are not 
intended serve as detailed installation 
The installation should with all am)HC<3-
ble and 
installation 
this 

-14 



The most desirable location for the 
between the vehicle's main frame members 
this is seldom Most units must be 
on the side of vehicle and are difficult to reinforce. 
M icles have 

the 

-15-

ION AN 

~~~-~~~, ......... can be installed so that it sits on 
support tubing, if the vehicle 

Another method is to the ..... ,.., .... "''"'".,."'' 
the horizontal support means of suit-

sound metal framework. The follow­
rules apply: 



~l,igure ~~- - ~Qflr~ic~3 ~-~~~~~~a:-f:- •e~lraiB~ :. 
- ""'=~*~:f!id>-""'~~ "'-~"':!it~~-11: ~ 'C fii"CA"'"J-

Vehicle 
Chassis Uned 

Bottom 



Plan the 
mum of at 
erator and ",.... .. "",...,,..,,..,. .. .,..,,...,.,+ 

ance between 
have lined the 

you have 
1 

NOTE: Refer the "Dimensions and Features" 
ing in the back of this manual. 

DANGER: DO NOT INSTALL SOUND INSU~ 
LATION OR ANY ABSORBENT MATERIAL 
ON THE COMPARTMENT FLOOR INTERI­
OR SUCH MATERIALS \1\/ILL BECOME 
SOAKED WITH COMBUSTIBLE OR 
SIVE VAPORS AND LIQU 
BECOME FIRE 

add Q'vi..IUCHII.JQi 

sealant 
from the vehicle ...... ,., .......... 

Sound 
mable 
inch 

a combination of sound 

a i 
\Nhen 

should face toward 

often reduce noise more O'l"l'·"'"''~'"'"' 
material. For a sheet of or 
material, of other acoustical materi-
al, is more when a material 
used. 

- 7-



-1 

with suitable, fire proof sound insulation 
inch thick fiberglass with a 2-pound density). 



It is absolutely essential that an adequate flow of air 
for cooling, ventilating and engine combustion be sup­
plied to the generator set. Without sufficient air flow, 
the overheats. Such over-
.-.r..,,.T,,..,,"' can cause operating difficulties and 
me1y cause fire and personal injury. The installer 
must make sure that sufficient air is availabie to the 
generator for cooling, ventilating and combustion. The 
installer must also provide for a path for exhausting 
the cooling air to the exterior of a compartment, if so 
equipped. 

Ideally, you should provide three air inlet 
whether the generator is housed in a l"ru·nlc.nTII"\n•o:.! 

compartment or not. Two of the openings should be 
10 square inches and located as shown in Figure 21. 
The third opening should provide for a minimum of 40 
square inches unrestricted and be located lower on 
the compartment door. 

LING AN VENTIL 

NOTE: Screening, louvers, or expanded metal that 
cover air openings restrict air flow that you must com~ 
pensate for by making the actual air opening propor­
tionately larger. See "Compensating for Restrictions." 

~r-
1 0 square inches (optional nrrvo.f"'l .. ..,,....,._ 

40 sq. inches unrestricted 

- lit~-L~'e zj-- !Susmemiel -Mpg~~~ -llllte1l llamr ~ ·: 
~ - " "' ~ ~ 

-19-



Such materials as 
metal can restrict the free flow of air. 
this restriction the actual air ,... ... -v-.'"'',.."'"' 

Some materials may offer 
inlet area. Other more '"'tt'"'''"''""'+ mav "'"'''"'.,'"' 

to a 90 free air inlet area. The naJr 'I"'OY1t~r,c 
opening is usually 

material or manufacturer. 
TO DETERMINE THE ACTUAL AIR INLET OPEN~ 
lNG SIZE DIViDE 40 SQUARE INCHES 
BY THE OF FREE AIR INLET AREA 
FOR THE MATERIAL YOU WILL USE. 



"- ~ ~--:~~~~:l~j_-t;a!~tt'~~t;~~~~- - "-:: 
' '" c-, ti(_", " " ~ ' - -'" - , -

E 

-21-





Be sure to read of 
4. 

con nee-



lNG DIFFERENT 
ER SOURCES 

from the junction box must terminate in a 
double throw transfer switch (Figure 

method for isolating different power 
using an isolating receptacle 29 
Whichever method you must 

be certain both power sources are connect-
ed at the same time. 

POWER PPLY CORD 
supply cord must comply with all am)IIC13.­

standards and regulations. It must be 
to handle the full amperage to which it will 

GROUND 
INTERRUPTERS 

The National Electric Code 
that install ground circuit nte 

on all external and some internal alat"'tl"'r·~~ 

receptacles. Contact your manufacturer or dealer for 
recommendations. 

~-- . , -·-.. , ~. · :_ -~:- . : · . ·F1igliUr,e ~~ -· ·~ra-~er -~~~~G~ ·J~l:Jlalimm ~~--~~-. : ·~· -·. ~" · ·· · :~~· ,~. : 'J:~ .-.\~ ::'_-~;j 
~":i.'f/!:f!""""",c "":~~~~"'"""""""'~ 1¢:!"'--"' ~ ~ ~"':::-"';_f::_'>:"""rc:::;i!'"*'; _.,"'"'~~· "'_-:_,"""!" ,~::;"y;,'!i;;~'~'' _~,.. ~.., " - ~., ~~""~_'--'.""~ --~;',.."",;;.c,~'\B;~)1,1''ib~~t:.-'S~':'.:,f~~:Ar~.:,f"' 

-24-



FLEXIBLE 
CONDUIT 

IF THE BATTERY 
POWE ER VEH CLE 
WELL AS START THE GEN 

JUNCTION 
BOX 

t._JEED BATTERY VVITH LARGER 

-25-

DOCKSIDE 
POWER 



BATTERY CABLE CONNECTIONS 
1. Connect the battery cable from the battery post or termi-

nal indicated by a or to the lug 
on the starter contactor as indicated in 

NOTE: If the generator is 

indicated 
connec-

the vehicle chassis, you not a NEGA-
TIVE battery cable to the frame ground on the 
ator base. Connect the cable to the 
ground of the chassis. 
3. Connect cables so the connectors are clean tight. 

BATTERY COMPARTMENT 
Install the generator battery in its own, vented com­
partment. Place the battery compartment away from 
any source of or flame. 
Provide ventilation in the 1"'\"'1"1''"'""' 
ment The minimum size of 

inches at the of the """"'""'""'"'" .... ·'"'""'" 
battery on a 

where leaks and 

, ft?!,igutte l;'1"-,~•nn~£1t1'ng!Ba~l:eif!M ~~-~~~ . _ _ - ," ~~ . ~, ·~ 
-' T - ~ "' 7~ ~,... '"> - l -:::: k-~ "~ ~O<:.l ~- ~ ~ ~ 

-26-



mounts a rocker type a "Generator 
and an hourmeter (Figure Use the 

hourmeter in with the nOI"If"\r!lf" mainte~ 

nance schedule for your 

-i~gtue i~- l'fmllll~l 8113 H~mD:te RaneJ - ~ 
- ~ "' " 

27 



The air cooled generator set was factory tested and 
adjusted using gasoline as fuel. You should not be 
required to adjust the unit any further except under 
special circumstances. 

WARNING: DO NOT MAKE ANY UNNECESSARY 
ADJUSTMENTS. FACTORY SETIINGS ARE CORa 
RECT FOR MOST WHEN 1vu•u'~>enu 
ADJUSTMENTS, 

exhaust 
correct any leakage immediately. 

5. When ail tests and adjustments at 
apply electrical loads and operation 
under load. "Testing Under Load". Run the unit at 
least minutes with loads applied. 

6. off all electrical loads 
circuit breaker to "OFF" or 

7. the unit run at no-load for a few minutes to stabilize 
engine-generator down 

engine. 

IMPORTAN-T: THE GENERATOR SET WAS THOR­
OUGHLY TESTED AND ADJUSTED AT THE FAC­
TORY BEFORE SHIPPING. NO ADDITIONAL 
ADJUSTMENT SHOULD BE NECESSARY. ONLY 
QUALIFIED SERVICE TECHNICIANS WHO HAVE 
BEEN TRAINED SHOULD PERFORM ADJUST­
MENTS OUTLINED IN THIS MANUAL. 

-28-



,....,..,,..,,...,. .. ,"'...., .. is 

is properly restrained. 

_1. Compartment construction is proper. 
_2. Holes/openings are vapor-sealed. 

Compartment size is correct. 
Compartment is vapor-sealed. 
Sound insulation is O.K. 
Floor cutouts properly cornoleted. 

INSTALLATION CHECK LIST 

-29-

All connections are correct. 
Conduit properly installed and sealed. 
Generator properly bonded to vehicle. 

. Recommended battery is installed. 
Recommended cables are installed. 
Cables are clean and tight. 
Cables are connected. 

ventilation is 



w 
0 

I 

THIS IS Alii OPTIONAL AIR INLET 
OPENING IN THE COMPARTMENT FLOOR· 
THE PREFERRED AIR INLET IS TO BE IN THE 
COMPARTMENT DOOR. (THE AIR INLET 
ALLOWS OUTSIDE AIR INTO THE AIR fiLTER -·--!llil!li 
AND PROVIDES GENERATOR COOLING-A 
MINIMUM OF 116MM OR 40 SO. INCHES OF 
OPENING MUST BE PROVIDED IN THE 
COMPARTMENT.) 

425 MM 

13!1 

99MM 

514 MM (20.23") 
MINIMUM DISTANCE 
INSIDE ENCLOSURE 

. ..,.__. -~ 

234 MM (!1.22") 

JJ 
m 
(/) 
)>" 
z 
c 
c -s: 
m z 
CJ) -
z 
(f) 



TROUBLESH 

battery cables. as necessary. 
3. Defective engine switch. 3. Replace Start/Stop switch. 
4. Defective starter contactor. 4. Replace contactor. 
5. Defective starter motor. 5. Replace starter motor. 

cranks but won't start. 1. Out of fuel. 1. Replenish fuel. 
2. Fuel pump is defective. 2. Replace fuel pump. 
3. Open Wire #14 from Control Bd. 3. Reconnect wire. 
4. is flooded. 4. Wait 5-1 0 min. before 

defective. 5. Clean, regap or 

i. 

3. 3. 
4. Generator internal failure 4. 

--31-



ECl! 

-32-

LEGOO 

l!ATIERY CHARGE RECTIFIER 
- CI RCUI T !IREAKER 
- CHOO:: COl L ( Gl\m..I 1£ !)IlL V) 
- !lllflUTER a:MRlJl BIJilRll 
- CHOO:: I£A TER CGASIJLI NE 

ENGINE CCNTR!l.. BOAAD 
- FUSE, lSA 
-FUEL PUMP 

stm-l:FF 
GENIST!lR 

- HJIR METER CIPTI!JlAU 
- S\IITCH, HIGH TEMPERATURE OIL 

( CLIJSES 114 HIGH TEMPERA TURf) 
- IGNITIIJ>l COIL 
- I GNI TI IJol I[J])UlE 
- I GNI TI IJN SENS!Jl 
- UGIT, RUN CIPTII:INALl 
- SWITCH, Lll\1 IJI L PRESSURE 

(!FENS IJN HIGH PRESSURD 
- STEPPER MIJTIJ! THROTTLE CONTROL 
- RESlST!lR, SOD !liM, 5I! iiATTS 
- 1 !HI, 50 \IATIS 
- STARTER COO ACTOR 
- STARTER Mf.lT!:R 
- SWITCH, START/STIP 
- SIII TCH, FUEL NIP PRJ: ME 
- SPARI< PLUG 

LUG, BARREL 
- TERM! NAL, COIH:CTOO TAll 



ELECTRI AL DATA 
Drawing No. 88928 

-33-



EXPLODED VI BLOCK 
Drawing No. 95287 

-34-



REPAIR PARTS - LONG BLOCK 
Drawing No. 95287 

PISTON PIN 
3 88411 1 PISTON RING 
4 72657 2 PIPE PLUG~1/4 NPT 
5 77176 BREATHER 
6 88057 1 PISTON, 75 DIA. 
7 76390 2 RETAINER, PISTON PIN 
8 83378 ASSEMBLY, CRANKSHAFT AND GEAR 

10 89923 OIL BREATHER 
11 89213C ASSEMBLY, CRANKCASE 
12 76349 SLEEVE 
13 81695 2 
14 90604 
15 20527 ENGINE IDENTIFICATION 

786996 

76362 

78606 

77168 
48 884136 
49 78629 2 
50 90388 2 
51 83153 
52 92977 
53 84186 2 
54 88156 
58 72347 

-35-



(...) 
0> 

I 

m 
>< 
\1 

zr­
oO 

m z 
m 
:0 

~ 



REPAIR PARTS - GENERATOR 

X 

FLYWHEEL, FAN 54 83512 TAPTITE M8-1.25 x 15 LG. 
3 2 WASHER, CONICAL 55 91526 4 M5- 0.8 X 12 MM SCREW 
4 2 HEX NUT, M16-1.5 56 005-91297 OIL PRESS. SWITCH WIRE 
5 1 FILTER, OIL 57 42907 3 HEX HD. CAPSCRG 
6 1 TUBE, EXHAUST OUTLET MS-1.25 x 16 LON 

7 89476 1 GASKET, EXHAUST 58 22129 11 LOCKWASHER-M8 

s 40976 4 SOCKET HD. CAPSCR., 59 74906 4 HEX HD. CAPSCR. 
MS-1.25 x: 20 LG M6-1 X 20LG. T APTITE 

9 99948 STARTER 61 39253 3 HEX HD. CAPSCRG 
EATON/GENERAC M8-1.25 x 20 LON 

11 22127 1 NUT, 1/4-20 62 22511 3 HEX HD. CAPSCR. 
3/8-16 X 1.25" LONG 

12 22097 9 LOCKWASHER, 1/4-M6 63 22237 3 LOCKWASHER-3/8 
14 92059 STEP MOTOR SPEED 64 55822 2 PHMS, M4- .7 x 8 LONG CONT 
15 86706 ROD, THROTTLE CONTROL 65 22264 2 LOCKW ASHER-M4 

16 89477 CLIP, ADJUSTMENT 66 89050 2 PHILLIPS PAN HD. MACH. 
SCR.-M6-1 x 90 LONG 

89478 SNAP, RETAINING 67 82774 WOODRUFF KEY-4 x 19 
18 90192 WASHER, CARBURETOR 68 59637 4 TAPTITE 3/8"·16 x .75" LG 

90881A ASSY., CARBURETOR 86697 1 ASSY.IGNITION SENSOR 
86704 SPACER, ENG. MOUNT 
86701 BRCKT., ENG. MNT 
86702 BRCKT., ENG. MNT. 
38353 RUBBER 
89263 
90071 
94637 
90072 
86708 

89062 

SWITCH, 
45 86735 COVER, CHOKE 86714 SCREEN, OIL PICK-UP 
46 47488 SCREW, 4-40 52617 DRAIN PLUG, M12 .75" 
47 22159 4 LOCKWASHER-NO. 94643 GASKET, OIL DRAIN 
48 31879 FLATWASHER-NO. 74027 SCREW,M3x5"LONG 
49 91306 SOLENOID, Ct40KE 105 43182 LOCKWASHER, M3 
50 36544 X 106 90387 AIR CLEANER DECAL 

92079 4 HEX HD. TAPTITE MG-1 25LG 
51 89473 108 A5620 TIME DELAY FILTER 

52 86736 109 66849 2 TAPTITE, M5-Q.8 x 16 

-37-



EXPLODED VIE - SHEET METAL 
Drawing No. 20741 

-38-



REP IR PARTS - SHEET METAL 
Drawing No. 20741 

ITEM PART NO. QTY. DESCRIPTION 

2 49813 2 M6-i .0 HEX NUT 
3 867i8 1 SEAL RUBBER EXTRUSION 
4 A3666 WRAPPER, BOX 
5 74908 22 TAPTITE, M5-0.8 x 10 LONG 
6 20150 CUSTOMER MOUNTiNG RAILS 
7 22129 4 LOCK WASHER- M8 
8 39414 4 HEX HD. CAPSCR., M8 -1.25 x 35 LG 
9 45770 iO HEX HD. CAPSCR., M5- 0.8 x 0 

10 49226 i8 LOCK WASHER - M5 
12 89680 1 SPARK ARRESTOR 
13 94670 U-BOL T, WI SADDLE & NUTS 
i7 89471 DEFLECTOR, AIR OUT 
i8 8673iA ASSEMBLY, MUFFLER 
19 86715 HOUSING, LOWER FAN 
20 86726 SKIRT, GARB. BAFFLE 
21 86671 COVER, 

SPARK PLUG 
BELLY 

56 4 

23897 4 
58 75494 
59 A3638 
60 22159 2 
61 56893 2 
62 A5767 6 LG 

-39-



OED VIEW ~ CONTROL PANE 

-40-



REPAIR PARTS - CONTR L PANE 
20740 

MODULE 
32 83492 
33 43181 4 

-41-



NOTES 

-42-



N 

-43-



CALIFORNIA EMISSION CONTROL WARRANTY S 
YOUR WARRANTY RIGHTS AND OBLIGATIONS 

The California Air Resources Board ("CARS") and Generac Corporation are pleased to explain the Emission Control 
Warranty on your new recreational vehicle equipment In California, new utility and lawn and 
engines must be designed, built and equipped to meet the State's stringent anti-smog standards. Generac Corporation will 
warrant the emission control system on your recreational vehicle equipment for the of time listed below ...... ,.." 11 "'~"'rl 

there has been no neglect, modification, or improp~r maintenance of your recreational vehicle 
ment 

may include parts such as the carburetor, ,,,IT,,...,., 
f"r.I''I"H'\r'OCCif'\1'\ release system and other emission-related !:>CC•CI'Y"III"\I 

and exhaust 

Where a warrantable condition Generac r ,..''""'"'· .. "'""'""""' will your recreational vehicle 
cost to you for parts and labor. 

Also included 

\f\/!>rr::.nT\1 service can be by a Generac Authorized Service Outlet. the time of 
warranty evidence must be presented of the date of the sale to the original purchaser. The purchaser 
charges for making service calls and/or for transporting the to and from the place where the and/or war~ 
ranty work is performed. The purchaser shall be responsible for any damage or loss incurred in connection with the trans-

of any or any thereof submitted for inspection and/or warranty work. 

IF YOU HAVE ANY QUESTIONS REGARDING YOUR WARRANTY RIGHTS AND RESPONSIBILITIES, YOU SHOULD CONTACT 
GENERAC CORPORATION AT 1·800-222-3136 



EMISSION CONTROL SYSTEM WARRANTY 
Emission Control System Warranty(" ECS 
Engines: 

for 1995 and Later Model Year Utility and Lawn and Garden Equipment 

\1\/=orr:=.nT\1 shall apply to 1995 and later model year utility and lawn and garden equipment engines. The 
"'"

3
,.,..,.,, • ., Period") shall begin on the date the new engine or equipment is delivered to its origi­

for 24 consecutive months thereafter. 

B. General Emissions warrants to the original, end-use purchaser of the new 
or equipment and to each subsequent that each of its utility and lawn and garden equipment is: 

1. Designed, built and equipped so as to conform with all applicable regulations adopted by the Air Resources Board pur­
suant to its authority, and 

2. Free from defects in materials and 
ed emissions - related part to fail to be •n.c.nTir:::ll 

turer's application for certification. 

C. The ECS Warranty only'"'"'''"~""'"'"'" 

3. 

the ECS Warranty Period, will cause a warrant­
the part as described in the engine manufac-

as follows: 



GENERAC'S THREE· YEAR LIMITED WARRANTY FOR RECREATIONAL VEHICLE GENERATORS 
Generac warrants to the original purchaser that its generators will be free from defects in materials or work­
manship for the period set forth below from date of original During said warranty period, Generac 
will, at its option, repair or replace any part which, upon examination by Generac or Generac Authorized 
Distributors and/or Dealers, is found to be defective under normal use and service. 

THREE .. YEAR WARRANTY SCHEDULE 
1. All NP series generators used in a recreational vehicle shall be warranted for a period of three years or 

2,000 hours of operation, whichever occurs first. All parts, labor, removal and reinstallation shall covered 
for the first two years. Parts and labor on selected generator and engine parts shall be covered during the 
third year or 2,000 hours, whichever occurs first. These selected parts are limited to: the main Rotor and 
Stator, Computer Control Board (if applicable) with regard to the generator; the Cylinder Block, Cylinder Head, 

Piston, Valve, Valve Lifter, and Manifolds with to the engine. 

2. The drive train belt and pulleys on NP air-cooled nor-.or:.+Are used in recreational vehicles shall be 
warranted failure due to defective materials or usage for the life of the . For the 
original owner, this drive train shall include and labor plus payment return of the 
failed belt or pulley by the For succee~d1r1q owner, this power train cover belt or 
pulley parts only. 

Rental 
ranted for (1) one year or 

such as 

"'"''"'"'rl''" parts service and ret>la<:en1er1t 
when normal use has exhausted the life of a part or an 

war-

THERE IS NO OTHER EXPRESS WARRANTY. GENERAC HEREBY DISCLAIMS ANY AND ALL IMPLIED WARRANTIES, 
INCLUDING BUT LIMITED TO THOSE MERCHANTABILiTY AND FITNESS FOR 
THE EXTENT PERMITTED BY LAW. THE DURATION OF IMPLIED WARRANTIES 
CLAIMED IS LIMITED TO THE TIME PERIOD AS SPECiFIED IN THE EXPRESS WARRANTY. LIABILITY FOR CONSE-
QUENTIAL, INCIDENTAL, OR SPECIAL DAMAGES UNDER EXCLUDED. states 
do not allow limitations on low an warranty or the exclusion or limitation of incidental 

For 

so the above limitations or exclusions not you. This \1\i:::lrr:::.nT\1 

and you may also have other which vary state to state. 

nearest GENERAC authorized service : .. u-r;;,rnr\1 ser-
nOF'?f"\r'm<::>l"' only by a GENERA( authorized service This warranty will not to at 

At the time of evidence of original date must be pre-

GENERAC 

TELEPHONE: 

P.O. BOX 8 

544·4811 FAX: 

VVaukeshal VVI53187 

544-4851 


